
 

Lecture 5

Last time used kn spine of Ones
to find information about Anis toHE Rfid

to Diff MnsO pT
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If TT G G acts an X freely then
GK acts on freelyon Xk

If the action of G is not free GK still acts
on X f Suppose X is a simplicial complex
the action of G is simplicial and the stabilizer

of a simplex r fixes T
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Recall that a simplex r of K u s r s
a chaw Soo ask f completespheresystems
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isomorphism clashes

want to simplify this expression in order

to calculate it
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every subsetof lo is a subforest
so I propr subforestsof I B
the d of an echo 2 sphere
ie it's an elf D sphene
so the core is an elf cell

i XCpoetofforests Zebec

E
k PEG

off colic
chainsof forests B

M G

Now define eco E e yet
4cg
a forest

including theempty forest

then xTAnsI E T
where A at G autos of G fixing OG



Exercise
some properties of eco send
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To calculate X cute
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Could have also got the answer for Aat Fz
using the following property of IT
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where T is the f function defined by
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We will return to tub nextweek



More about the structure of k n s
Local structure link of a vertex

g G or a S complete spheresystem

Lowerlinke Easier to think ofthe graph
description

Upperlink i Easier to hunk ofsphere
systems

We will do the lower link first

R Rn s a standard rose
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making G
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commute
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as usual this is up to homotopy
all maps and homotopies must fix
leaves
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different forests givedifferent market
graphs even if they're isomorphic
as graphs
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Prof If G has a separating edge
then I Call is contractible
If G has a loop l Ter 0 61 01 G e
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4 doesn't containe Ye is cute

Eyz LITTLE can fill in
square

5 4 C Cha can fill in Tx I by
prosin operator

can defoetract to come

This argument is formalized inte
Poset Lemma
P a poset f P P a poset map
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is defined using the prism operatorwhich decomposes
6 X I into a union ofsimplices
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We'll complete the proof of te propositionnext time


